RBEEY v H—WR
A

LERBUE

TOKAI

AVTARYTURY)—452023 [FEiE])

288 Y—4  Hafh

B B 2023%9A7H (R)  9:00 | HEmEE T 90n £IEZ | REEREAZER Y VAR 259 Ky h—15
x & i EvFHhig AIZ| RZ |®E! #12 [RI#MA| B | © 10 A
EEEAE e HEE! S E4DELE WE &k
* & BE RE Bl 22 ik $ix8 | PE EBX
B / B / & 5 ﬁﬁ :|£ 0 ®x /K /K
EEBERAE | 9 — 0 SEA
18 ¢« 15 Bm 4 & +* 0 e 6 > 6 KICK OFF
% ft Ya—t B/l . =S ETR el S a—Fh Z R
w0 & | mE [wla| 7% |=|lels| RFR | AW mE | & [apd
0 Wk FKER |55|Gk|Gk| 1| EiE B3 0
1 1|1 & EB=E 39(DF|or|17| &F Z|E 0
65 1 1 WA ®A |[37|oF|or| 4| HE#E HE 0
1 1 ME =K |20|mFlor| 5| $#%IE Eh 0
HT 0 YH #BF |23|DF|oF|55| A® HUKER 0
1 1|1 FE BK |27|vrlvr| 24| BE B 2 2
65 1 4 5 (3 AE Fi | 14|MF|vF| 47 #iE = 0
HT 3 3| 2 & EX 9 |MFIvF| 6| MM &k 1 1
65 0 wiR a3|mrlmr| 15| OER #4 0 52
1 1 HAR EFE  [45|MmF|Fw| 19 =D 0 67
HT 2 2 Wt BiE |[11|rw]rw| 16| B EE 0 67
Bl #E (s7|ck|ck[36] Mm% tHiE
23 0 8 X 12| DF|oF| 56 Al &
HA BEKX |38|DF|or|20] W& B 0 16
9 4 411 EE BE | 3 [rwlmr|2s| kB BHE
43 0 it | | 22(mAlrw| 18] BAR BEZER 0 19
BEJll kB |[se|mrlrw|77] B #RA
37 0 ah Ej 36 Fw]Fw FR OEX 0 15
14 0 Wi FE | 2 |DF
11 1 1|1 RE BH | 24|FrwW
2L -85 BB BEE 2&-R15
B | B K & EA Eif ER OEA B | B/ K £
EEARIES F—L&EH Al | &3
7 | 13 20 |a—F 3 1 2
1 1 2 G K 2 1 1
3 4 7 C K 8 6 2
1 2 3 |EEFK| O 0 0
2 0 2 |BEFK| 1 0 1
2 0 2 |#Fzgam| 1 0 1
0 0 0 P K 0 0 0
GE1) 4794 FHOKTFR. MEIU—Fv 80535, 7791 FI2LBL0DERLTVS,
[EEER|CLRAKR—YNITA, 225774, CEHE. C4RYBRLDER. C5HEBETA. CHERTE. C7EHFAA, CENFTE
CRIBEM|SILELLFRELR T LA, S2ERLETA, s3:DEME, SaBAMEMEIE(F) | SBAMKEMEIE () . S6:R]S. &M@
BR[| F— L4 "TRE TR K = BAGE (~: FUTI>: F590 ERR D BERARx BBSSa— b H: AT (1Y)
3 [ &mx (9! % BEX (12 WA FHE| o - 0 [kl 11 | > idki1i 9 ivvsurifRS
5 | @akRKA [14; AR F(43; HR B [ 0 -0 [FH1i 43 i > idR1i 14 i ~ (HES
26 | ARk [ 9f & BRA (11 WA BME|[ 0 - 0 [H1i > idmR1i 9 ivsvriHRES
28 | &kk [39] & H#E % FEXK | 0 -0 |Z&ExKi 9 A imsk1i 39 i HS
9 | &K [14i A2 F3 £ FEX | 0 - 0 |1 > it 1iovauri EBS
s5 | &BeA (148 AE F3|43] HIR | | 0 - 0 [He1i 43 i1l 14 ivvsurl ERS
60 | &BK |27] & Bk |14 AB F3| 0 - 0 [ZEcki 14 i1l 27 e ERS
77 | ek | 3: A BXE |22 4t E| 0 -0 |H1: 22 | ~ S itiR1i 3 iovsuri HRES
90 | @kXx [24i RE Zrt 0 - 0 [#=:1: 24 ~ (HBRBS

[f&5]




